[£434])] Q&A

Q: AR Iriw/HEE AL ?

> iﬁp:\i/&)\ ¢ \:}3 ;PS“ gu E p%(%_f_@‘? [ ‘éﬁ ‘ MT-EF -T‘F%(%E— W '/';/ -gf ?—-}!“gﬁt
%E—E —\ ‘:B ?{ q F%%E °

> T ST
L EBAE 2300 BN e T TR H R LE S
2. BEFTH A S HE D A2 FAR S o
3. F AR

(1) = 40 394 EHIE » EHAFHT - o Bk (R HFF) o7
E 0 F 2d Ep EAEFE

(2) # kA *i’é%:%i’%‘;'#“fsé%iﬁ},,j‘sifzgﬁ~g3fﬁ%fg§3/f§%
o £ d T3P BAFTE o

Q) LT Az Hd BFF RGP £ 2 P A
4 FPBE EPOEE P BRRLEEPRGER ks d kol 4w

Q:®WFILEMT » A RFL (F72) »wwPPLELHAL?
£ EA R A 55 A 1 = R i IR S L G o i S 2

ERERARY G RANARE PR R AR AR S Ao

Q: L A » LI VLA FRY © B f “rie ?

gl

J‘,Z o
> AFIrTE LA

BRI ALNELS L EAIN BT RKEEE S HOTRB I E RS S N
PEID I 4 o B

> B RE1ILFTE R4




A E A AN B LTI R MR EF o TP B EBRA T K
B R TRER TR PELEP ) 0 2 RE L TR L5 R
B BRI EARS S NPT A

Qi RAGHYA FLEXFFFERNIFIIE? LT FHF GPA P
57

© S A AL T 70 K %E:ré%ﬁ%‘?ln\ﬁi SR TR, i -
KA LR s P EES P 0 3§ W T GPA -

Q::fj HAALIAFA?

U R TR KA g a2 o T ARSI KA F AR -
FoA R RRG AEAC EBHP  RAL T E IR A ITER

RATE o WAB S ATk




